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f@ A Q}ém @" o5 given the following expression to simplify as a homewaork
simplified the expression this way:

Meredt She
assigﬂme 4+ 3[10-2(6—-3)]+3

= 4+ 3[10 — 2(3)] + 3

— 4+ 38@3)] + 3

— 4 + 3[24] =+ 3

=4 +72+3

=4 + 24

— 28 |

ister says this is wrong. Do you agree’? if 50, describe

plder 8!
Me;edﬁh orror and fx 1t

Mered

— 3x 1o complete theltabse.,'i'eii how you determined the numbers in .
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vers 18 and 27 were added to th '
sethen pum e y column. What nu
guppo oin the % c@!umn to continue the rule? Explain your thinking. moers

wud

‘watching the delphins at the zoo. Four: gfoups of

. peo le omed them, and 5 people left. After that, 3 groups of 2 people
5 more people came. To find how many peop!e are at the

* NOW, simplify this expression:

35+ (4X3)—5—(3X2)+3 o

ps. HOW do you know your answer is reasonable? hse &

 sheet 0F PaPeY 4D SOIVE.




Use the rule y = x + 6 to complete the table. Then graph your results,
Tell how you determined the numbers in the v column of the table and
how you graphed the points. o

y
A
A 20
5
8
12 10
18
a 10 20 o~

Six people got onto a bus at the first stop. At each of the next four stops,
10 people got on and 5 people got off the bus. The number of people stili
on the bus is given by this exprassion: -

4 X (10 ~ 5} + 6

Eve says 26 people are still on the bus. Alyssa says 41 people are still
on the bus. Who is correct? Tell how you know, and explain the meaning
of the quantity inside the parentheses.

Johnny wrote an expression to find the number of math problems he
needs io work on foday. He simplified the expression this way:

(18~6)+(3+3)+9
=18-6+3+3+9
=18-2+3+9
=16+3+9
=19+ 9

= 28

~

o . Johnny’s friend Simone says this is wrong. Describe Johnny’s error
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Yuri's teacher asks him to find the patierns in ihe tables below. Look
at Table 1 and Table 2. Write an equation to describe the rule for

each pattern, using x and y. Did both of your equations use the same
operation? Why or why not?

Table 1 Table 2
Cxiy | Ry
5 | 10 5 | 10
6 12 7 19
7 14 9 14
8 16 | 11 16
9 | 18 13 | 18

Seiko can buy used DVDs for $8.50 per DVD (which includes shipping) or $1.00
per DVD plus a flat rate of $34.00 for shipping.

Yy $9.50 per DVD ¥ $1 per DVD plus
Aincludes shipping) A $234 shipping
IRRrGE
50 ﬂ/ 50 |
0 (E-47-5) | ol T —== A(1,35)
& £, 38) a4+ 5EE 5 (2. 36)
% 30 / % 30 A B[ C(3,37)
3 13,285 8 D (4, 38)
© 20l e © o0 E (5, 39)
7@ F (8, 40)
10741 45 10
0o 2 .4 8 8 10 0o 2 4 & 8 10~
Number of DVDs Number of DVDs

Detérmine whether these graphs represent additive or multiplicative patterns.
What features of each graph show that your answer is correct? Wi 11-{ ar}

equudion 1o descrite the rule Lor each pattem.
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Use the rule y = 2x to complete the table. Then graph your results. Tell how
you determined the numbers in the y column and how you graphed the p@ims,
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8 10
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0 10 20

Use the rule y =X + 5 1o complete the table. Tell how you determined
the numbers in the y-column.

Bl |o|x]

Suppose the numbers 10 and 20 were added to the y column. What

numbers would go in the x column to continue the rule? Explain your
thinking.
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Andrew set out 6 sets of 4 buckets. He saw that 9 of the buckets were
damaged, and he took them away. He divided 90 seashells evenly
among the buckets. He decides fo continue to collect 90 shells and
divide them among the buckets a total of 4 times. The expressnon shows
the number of shells in each bucket. -

90—(6><4—9)]><4

'How many sheiis are in each bucket? Describe ’{he STGPS needed to

:"'"s:mphfythe expression. 311 oW Boux” WD(K Oﬂ Qa
i:ﬁ._Qmp,me Shok pl waPE .




